NOTILE

Use 215/16" wrenches for tightening of the nuts. Use
one wrench to hold the bolt and the other one for
tightening the nut. The quick disconnect pull up bar is
optional with the folding rack.

JATESTAN])

ed
. <
Iﬂ b= — [il Q
4yl @
\\
®
MAngE N cAnADR @/@E
- \\
- » » / "OC NG
FOLDING RACK % : 1/4" Shim
\\ "
TN
N
Please use in conjunction with stringer installation N Q%
sheet. NI :
Q oll?
Q ® .
\
) |- A
® 9
S| ¢ z o Attach Crossmember to bracket using the provided
N o 9 hardware: 5/8 x 5.5 Bolts, 1/4" Shim (Remove after
S oll? assembly), Flat Washer and 5/8 Hex Lock Nut.
S 0 2 Tighten the Lock Nut until bolt head and nut are
N Q 6 touching the channel, but not cranked so the bracket
o S o bends.
ol @ ©
N N N
A | Q
3 o,
® § ) © N
N Q
% 3 § : &
9 ®
o S °lle S
® 8 9 :
9 N .
W s 0 ©
\\
i 5 § 9 \,
Q
Attach Upright to Crossmember using the %Q N ?
provided hardware: 5/8 x 4.5 Bolts, Flat 0 N
wide WaSh(:::;cllzl'?/tiivl\{lii?l(:l\[l’tl_oCk Washer G%{ﬁ o § ’ Attach Bracket to the Stringer using
and 5 S S. Q Attach Bracke 2 Stringer us
: S the provided hardware: 5/8 x 1Bolts,
4 S Flat Washer and 5/8 Hex Lock Nut
M S || o (Thin).
\\
®
w » —-_— o »
Q
DISCLAIMER 3 WARNING!
o . - — ~ g -—gn
Resistance training, gymnastics training, and activities at height are potentially dangerous and may %Q MISUSE OF THIS CAN RESULT IN
lead to severe injury or even death. Use common sense when training, to obtain instruction in the o C |: V |: R |: |NJU RY
, . o : e limitatione Thic : : : SEVIERIE
proper execution of movements, and understand your limitations. This equipment must only be used G/ﬁi _ _ . ) . ) -
by competent and responsible persons, or under the direct and visual control of a competent and e BOTH SQUAT65TANDS AND BUYER DISCLAIM ANY EXPRESS
responsible person. Obtaining instruction in appropriate techniques and methods of use is your own o OR IMPLIED WARRANTY, INCLUDING, WITHOUT LIMITATION,
responsibility. You assume all risks and responsibilities for all damage, injury or death which may 9 WARRANTIES OR MERCHANTABILITY AND/OR FITNESS FOR A

§

occur during or following incorrect use of this equipment in any matter whatsoever. SquatéStands PARTICULAR PURPOSE WITH RESPECT TO THE EQUIPMENT,
bears no liability beyond the replacement value of the equipment in question. BUYER AS5UMES ALL LIABILITY IN USE OF EQUIPMENT.



	Sheet1
	Drawing View1
	Detail View  (1 : 4)
	Detail View  (2 : 7.5)
	Detail View  (1 : 6)


